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10 =L &= (Weekend activities)

“Talking about weekend activities and plans ”
Grammar: JeHAl, —(2)= Hol
Vocabulary: Places, Weekend activities

o]3]9} & Vocabulary and Expression
4 Places

¥ O35 42 0182 M0 282 HIES dN0A 20 HAME.

Complete the names of the locations by filling in the missing syllables.
Then choose corresponding verb from the box below.
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TAHGICH to look around, =5IHCH to swim, SA&MSICH to hike, ZAGHCH to admire (art)
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Y Grammar
‘lq A1 ’

‘JelM’ comes at the beginning of a sentence to indicate that the
previous sentence is the reason for this sentence.

Helot Ot R. JdefAd EJ0 JtR.
Me HES £0tol. el 85 ZE0t K.

% ‘el L= ONA'E AIESt BIZEES MRAMK. Fill in the blanks
using ‘2l or "l A",

1) 25 SMIt 202, Jcid WY S0 2 AR
2) Bl MeE %S 2HOR. SRE HUR

3) LHEY &=201 AIE0l UK SN SFoi
4) M= Ml 2EAN=. ot B0E.

x 88 210 "M E AIE26tH 282 2646HM K. Look at the
picture and complete the narration using ‘Z1cHAl’.

H=Z gift, present
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o]3]e} ®& Vocabulary and Expression
2 sh5 Weekend Activities

oy 2

1. 292 HHE =t O Ootefol B2 M 2. Match the words for each

picture from the box.

—

B =7 e =7

4

2. 22 SO0l ssEECZ = JYs P = PE SUNK? Guess the
meaning of “7” in all words that are shown above.
@ & (foot) @ = (hand) ® 3 (bal) @ 25 (exercise)

3. e L9 32 0o HAZHGHMIKR. Connect the pictures and its
appropriate meaning.

. . oS e
. - ARE O
. - WEES TR
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Y Grammar

(L) AL’

‘—(@)=2 HOUR comes after the verb stem to indicate the things that
will happen or plans in the future. -2 HOR is used when the
preceding verb stem ends with a consonant other than =. '-=2 HUHIX

“ is used when the preceding verb ends with either a vowel.

‘—2 AU’ with verbs ending a —=2H0 K with verbs ending a
consonant except =. vowel

oitt + 2 HUle — 22 Hue XCH+ 2HHE — & Hu

9t + 2 Hol — 892 Hue I + 240l — 2 Hole

A+ 2 HUHR — BS HUR EtCH + 2 HHIR2 — € Hu

* |n case with 2 ending verbs: Just - HH K" comes after the verb stem.
ZC + HOR —» 2 HUlR

F+ AR — & Al

% OsS B2 240tMK. Complete the table below.

Past form Present form Future form

Dictionary form _oH/910] 2 /08 -(2)= Hulg

JtCt U2 e Z iR
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% Chs g2 210 220 g€6tH 2. Look at the pictures and answer

the questions.

1)

(1F-}

b 2= MY A 2 AUK?




